2t0l[(3)

Hin
o]

LHO

F

MstE o At

IO

=

51

64

K4 0180 (0fr 78 K4 Ulo7er =)

A0<Fa (ST 00K Uloier /=)

o0 =0 (LH K4 uloier i)

TaeKwonSoft

| 8=2E X E1A Ol &2

X493



ol

65

I TIR0 (200N K L0er =)

NGRS EED

TaeKwonSoft

| 8=2E X E1A Ol &2

=]

sl & X49

)HI23



SHMstd WA HIG(3)

=

52

66

70J Ok ( OH 78) K4 Uloor 1)

A0 0 (K- Rk Uloier /=)

O~ &) (0K K U0 =)

TaeKwonSoft

| 8=2E X E1A Ol &2

=]

sl & X49

)HI23



| O Xt 2+0] E(3)

p

ol

X

UI0

=

67

53

A0 <60 (60 oF K4 Ul0or =)

A0S B0(Ir <JK{Uloier /=)

O =01 (OF R0 K4 Ul0Tor 1)

TaeKwonSoft

| 8=2E X E1A Ol &2

3

sl & X49

)HI23



68

55

54

RJ<44070T (01 of K4 Ulofar =)

A0S (OF RO Ul0Tor 1)

100 <o) (%) <0 K4 Ul0dor =)

07 440 (R0 HO K4 Ulodor =)

TaeKwonSoft

| 8=2E X E1A Ol &2

=]

sl & X49

)HI23



SHMstd XA allbI(2)

=

69

FE<FS (330K Ulowor =)

00X 80 (700 oM ki Ll07or =)

TaeKwonSoft

| 8=2E X E1A Ol &2

X493



